TECQO



SRITRh IR B ERE R I

TECO Global Deployment on Explosion—proof Motor Certification

e Series Certification Q Unit Certification

Class I Div.2 @) ~1250HP, 660V Ex ec(na) @) ~200kw, 600v (@) 95~11200kw, 7000V

© 125-8000HP, 6600V @® 150-15000kw, 11500V

c :US @© 200~7500+P, 13800V Ex eb(e) @) ~200kw, 600v (@) 95-600kw, 11500V

0"5 Class Il Div.2 () ~800HP, 600V Ex p (@ 150-15000kW, 13800V

J L= © 125-2410HP, 6900V Ex db/tD @) ~200kw, 600V

North America

@

Taiwan

(AUS, Asia, Europe...etc.)
Global

E

CHINA
@ Ex ec(na) (@) 95-1120kw, 7000V

@ 150~15000kW, 11500V @© 150-15000kW, 11500V

Ex eb(e) @) ~560kw, 690v (@) ~600kW, 11500V

(@)

Ex ec(nA) 6 95~11200kW, 7000V

o1

Ex eb(e) Q ~B00kW, 11500V

Exp (@) 150-15000kW, 13800V Ex p Q 150~15000kW, 13800V

Ex db &) ~560kW, 690V
Ex db/tD 6 ~400kW, 1140V 6
Ex tD @) ~560kW, 690V
@ 220~2240kW, 11000V

WERE/RIRE/RIRE /BB E/IP55

BRSETERANBTRET  EEESEEN  CIHNERESNNTBESD  BRERDZTRIENE (I
R ZRAME)ENEEERE - £E—BH3DOREFE - B3IRNSURE : 1bF - (RS REERE R AR
EHRARE IR - RIS SREMAE - BB ILREZ AN - MRTHRBELELRFRERIRRE -

i

INEEREFZER -

ISO-9001EIFE SRR 2%
ISO-14001IRIE EH L . o e
ET% EMAATTE B TH.Z

OHSAS 18001 ¥ L 2 E - EIRRE




e

AEHFXZ / AEMBXZ / AEUFXZ / AEMVXZ

I8 H IRAEFRE R
E5E —HEEAREZHHE (SCIM)
spst s IEC 60034,CNS14400, IEC 60079-0, IEC 600791
CNS 3376-0, CNS 3376-1
BB 220V ZE 600V ( F#80 ~ 180 ) ; 380V & 600V ( F#200 ~ 315 )3y H A EEE
SER 60Hz
R wWHEN 0.75 ~ 185kW ( 1-250HP )
" R.P.M.(Syn.) 3600 ~ 1200 R.P.M. (2~ 6 &)
RFREZEE Continuous. S1, MCR ( S.F. 1.0 )
HESR 80 ~ 315MC
REAR 2EHR , IP 55, Flameproof
REAAN % IC ANBFIIMNERAD
ZEHNX IKFEREZEBS (IM 1001) » (MEEIZEEV1 (IM 3011)
15 FR Zone 1 Hazardous
=R -20C ~ 50°C ( F# 80~280 ) ; —20°C ~ 55°C ( F# 315 )
{EFRERE
EE THENEE IS %RENET ((EREERLE)
=re BIN1,000 ARMT
- fERRIRIR AR Zone 1, Ex d Group 1IB ( F# 80~280 ) ; Ex d Group 1IC ( F# 315 )
N . TELEE : 10%, BEEBHE : 5%,
MEBEE N EMMBHEZNBEI10%UA » BIEREEHERELS%UAN
BEAR EREEBEEN A - A BE
wEAR R EwwE > (B21E30HP (&) LA LFF » & A REhas AE
LEAL €50
[vapedalEnpszk il #R3E CNS 3376-0, CNS 3376-1
;ig AERER IRIBIEC60034—2-1ii 8 F 2 R RREN B
% pitas ABE80CIRR ((EMEFEE » S.F.1.0)
B amame 120% 5 R 25 8
BB 160%EEE B ER 155

i LSIRER  WEERE

BRI EF S AT -



FHFE (1~30HP)

N / -20C~60C @@ / ERFEESF. - 1.0 / 60HZ (220v / 380V )

HESE

3460 80M 80.0 79.5 76.0 845 78.0 67.0 291 169 15 0.211 435 375 430 0.006

1 0.75 1730 80M 855 845 825 720 620 480 320 185 26 15 0.422 415 400 420 0.013

1145 90L 825 83.0 815 70.0 620 49.0 341 197 20 12 0.637 195 175 265 0.022

3445 90L 855 86.0 845 86.0 81.0 71.0 5.35 310 46 27 0424 395 375 395 0.01

2 1.5 1745 9oL 875 88.0 86.0 78.0 70.0 ©57.0 577 3.34 51 30 0.836 325 290 385 0.023

1165 112M 88.5 88.0 855 69.0 59.0 470 645 373 44 25 1253 160 155 270 0.071

3455 90L 86.5 86.5 855 86.5 815 71.0 7.72 447 70 41 0.620 390 370 400 0.015

3 22 1745 100L 89.5 90.0 89.5 820 750 63.0 7.87 455 75 43 1227 320 250 330 0.050

1160 112M 89.5 89.0 875 71.0 61.0 49.0 9.09 5.26 57 33 1.845 165 1556 265 0.084

3475 M2M 885 89.0 88.0 90.5 87.0 80.0 121 7.02 120 69 1.036 320 280 385 0.046

5 3.7 1750 M12M 89.5 90.0 895 820 77.0 67.0 132 7.66 110 64 2.057 225 180 325 0.083

165 1328 89.5 90.0 89.0 78.0 72.0 60.0 13.9 8.05 105 61 3.090 185 170 280 0.143

3510 1328 90.2 90.2 895 89.0 86.5 80.0 18.0 10.4 140 81 1625 245 200 295 0.076

75 55 1760 132S 917 915 91.0 850 815 725 185 10.7 160 93 3.041 250 195 310 0.133

175 132M 91.0 91.0 ©90.0 750 68.0 550 211 122 170 98 4.554 230 210 345 0.217

3510 1328 90.2 90.2 895 870 84.0 77.0 251 145 200 16 2.079 255 215 300 0.076

10 75 1765 132M 917 920 915 855 81.0 720 251 145 230 133 4.135 270 200 320 0.173

175 160M 917 920 91.0 79.0 735 625 272 157 210 122 6.211 280 235 285 0.484

3635 160M 917 92.0 91.0 90.5 89.0 84.0 348 201 280 162 3.028 235 185 285 0.183

15 1 1765 160M 924 924 920 86.0 83.0 745 36.3 21.0 290 168 6.064 245 185 275 0.367

170 160L 917 920 915 80.0 750 64.0 394 228 320 185 9.148 305 255 290 0.630

35630 160M 91.7 920 915 90.0 88.0 81.0 47.7 276 390 226 4.135 240 190 290 0.186

20 15 1765 160L 93.0 93.0 925 86.0 83.0 750 49.2 285 400 232 8.269 255 190 285 0.462

175 180M 92.0 93.0 93.0 83.0 80.0 72.0 51.6 29.8 340 197 1242 240 185 235 1.337

3635 160L 924 924 920 910 90.0 845 577 334 515 298 5.092 260 200 295 0.237

25 185 1770 180M 93.6 93.6 925 870 845 775 59.6 345 470 272 1017 250 190 265 0.704

175 200L 93.0 93.0 925 815 780 685 --—- 371 --- 267 15.32 240 220 260 1.829

3545 180M 93.0 935 92.0 885 86.5 80.0 701 40.6 560 324 6.038 225 180 280 0.283

30 22 1775 180M 93.6 93.0 935 84.0 81.0 73.0 734 425 560 324 12.06 220 160 250 0.792

175 200L 93.0 940 925 815 780 690 --- 441 --—- 328 1822 260 230 280 2.078




FMHEE (40~250HP)

2% / -20C~50C BR / E£AEES.F. 1 1.0 / 60HZ (380V)
1ESE %/gz '%/iiz
(%) | (%)

3555 200L 94.0 94.0 935 905 900 865 - 536 -—-— 415 8211 180 150 265 0.602

40 30 1775 200L 941 93.0 925 875 840 770 —-—-— 554 —-— 474 1645 300 260 320 1.451
1180 225M 941 935 93.0 855 825 750 - 56.7 - 385 2474 220 190 240 3.023

3555 200L 93.0 925 915 920 910 880 -—-— 657 -— 534 1013 170 130 260 0.753

50 37 1780 225S 945 945 945 865 830 755 --— 688 --— 552 2023 230 200 280 1896
1185 250S 941 940 935 86.0 825 745 -—-— 695 -—--— 563 30.38 260 230 280 4.559

3560 225M 93.6 935 925 920 910 885 -—-— 794 — 741 1230 180 160 260 1.357

60 45 1780 225M 95.0 945 940 865 840 770 -—-— 832 — 617 2460 210 180 280 1.979
1185 250M 945 940 940 870 845 770 —-— 832 -—-— 642 36.95 260 230 280 5.106

3565 250S 93.6 93.0 93.0 91.0 90.0 86.0 --— 98.1 -— 790 15.01 160 140 300 1.5M

75 55 1785 250S 954 950 945 86,5 845 785 — 101 -— 816 29.98 280 200 260 3.911
1187 280S 94.7 93.0 920 815 810 725 -—-— 108 -—— 868 45.08 220 190 250 8.900

3570 250M 941 94.0 935 91.0 900 870 -—-— 133 —-—— 1080 20.44 180 150 300 1.745

100 75 1780 250M 954 950 945 875 86.0 813 —-—-— 137 -—— 999 41.00 240 180 260 4.490
1187 280M 95.2 935 93.0 855 820 740 -— 140 -— 1100 61.48 220 150 240 11.80

3565 280S 95.0 945 940 885 870 810 -—-— 163 -— 1366 24.56 180 150 250 2.651

125 90 1784 280S 954 94.7 937 865 836 77.0 -—-— 166 -— 1366 49.09 240 180 260 6.380
1187 315M 952 948 940 870 850 820 --— 165 -— 1366 73.77 200 190 230 18.90

3565 280M 952 947 934 90.0 880 850 -—-— 195 -— 1575 30.02 170 140 235 3.093

150 110 1785 280M 958 950 945 870 86.0 820 --— 201 -—— 1644 5996 250 220 260 7.562
1187 315M 958 955 940 86,5 850 810 -—-— 202 -—— 1592 90.17 160 140 200 20.80

175 132 3570 315M 954 950 945 88.0 87.0 830 --— 239 -— 1934 35.98 170 140 225 5.077
1785 315M 958 950 945 870 86.0 820 —— 241 -—— 1934 7195 220 190 255 11.32

200 150 3570 315M 95.8 95.0 945 90.0 89.0 850 -—-— 264 ——— 2200 40.88 190 170 220 5.777
1785 315M 96.2 955 950 89.0 88.0 840 --—-— 266 -— 2275 8176 220 190 250 13.16

215 160 3577 315M 954 953 947 920 916 887 -—-— 275 —-—— 2300 43.52 150 100 200 6.496
1788 315M 96.2 96.2 958 895 877 895 —-—— 282 —-—— 2300 87.07 120 100 180 13.57

050 185 3577 315M 958 957 952 925 922 896 -—--— 318 -—— 2600 50.32 150 110 200 7.424
1789 315M 96.2 96.1 95.7 885 858 781 -—-—— 330 —-—— 2600 100.62 140 110 190 15.46

NOTE

1. DA ERIEERIBZIEC60034—-2- T35 2. WHR(E ~ A ~ EIR - HEARERNEmEES)
3. AEERIEIEC 600341 4. LA BEEEE - RABITEMN
5. BERISR : AEHFXZ/AEUFXZ (F#80~180) ; 6. F#200~ 315885 » AR MY EBIRERH - (EPJARI80VIALER » FER !

AEMBXZ/AEMVXZ (F#200~315 » AEMVXZ{E&EZ ZEF#280)




ExdIB T4 & Exd IIC T4

80

90

100

112

132

160

180

200

225

250

280

2P

4P 6P s

Exd IIB T4 CNS 3376-0

(certificate No.(ITRI)20172807-00172X5%) CNS 3376-1

315

Ex d IIC T4 (certificate No.(ITRI)20175507-00086X5%)

S SRS FR R 1T B 4R

EHIRE AT SRR ARM CEERIE

Output Torque value F rsie

Hz F#80~315
0 Torque
5 75% (T/Tn)
10 88% 190%
15 100%
20 100% 100%
25 100%
30 100% 80%
35 100% 60%
40 100%
45 100% 40%
50 100% -
60 100%
70 86% 0%
80 75%
90 67%

NOTE

Converter Duty Loadability/ Ex d (60Hz Rated)

Variable/ Constant Torque Constant Power
< Pl P

100% 100%100% 100%100%100% 100%100% 100%

sa0 * * * * * * * -~
75%, 75%

e \6‘7 %

0

5 10 15 20 25 30 35 40 45 50 60 70 80 90 Hz

N N

Zat : FE1EIEC 60034258 AR ER MR XN ES L —ERIER PLEBRENEER
BAZZIBITRE @ 2p 1 3600 (min-1) ; 4pF6pH8p : BWAEIEC60034-1» F17

HIRESRA145C (H3ME - SE—1E)
CESERIBITRE  FE)R (]/)\) 3kHz 10L=15IN>tOL = 10s » tCOOL = 105 8% (OL : iB&E)
. EBNEBERNERNRFH315
12 RAEEENES (FEA) - BENTRESERER

 RIBRESEE




AEHFXZ SMER ST [E

FRAME SIZE 80~112M

&1 & 2
L AD L AD
‘ AC |AC
___ @
) = =1 EN
@\ I = = @ -
, N = | “ 1
A=A i : =
‘ f 1 ﬂ
LE AE 1‘AA LE| B [[c A | M
- o KK TAP 4
AB AB
K HOLES K HOLES
F F
Il FT
DHTAP /| D | DHTAP D
HIJ 'dj kW)
& 5% | & Sk AB | AC BB C H HA | HD | HE
075 075 - 155 176.5 163.5 1770 50 80 9.0 2045 125
15
oo 15 075 90L 1 140 355 170 200 257 1745 125 215 56 90 10.0 223.5 225
- 22 - 100L 2 160 450 195 219 264.5 182.0 140 225 63 100 125 243 325
1.
37 37 252 112M 2 190 450 224 239 273 1905 140 220 70 112 140 265 445
EE| K KK L LE s=
n----
80 10 NPT 3/4" 322.0 132.0 20.0 155 215 M6x12 6204ZZC3 62047ZC3 31
0L 10 NPT 3/4" 4025 1715 340 24 50 32 8 200 27.0 M8x16 6205ZZC3 6205ZZC3 42
100L 12 NPT 3/4" 4255 1625 250 28 60 40 8 240 31.0 MI0x20 6206ZZC3 6305ZZC3 52
112M 12 NPT 3/4" 4410 171.0 225 28 60 40 8 240 31.0 MIOx20 6306ZZC3 6306ZZC3 62

NOTE

1. EOEEDAZE - P19 ~ P28 1 j6
2.BLBEHAZ  +0, -0.5




AEHFXZ SMER ST [E

FRAME SIZE 1325~180LC

3 4
L AD

L = AC ‘ AC

@ E i E
. = D u D ED

’7
V" ° E ’ =
L = D) % =
L i ==n =l ? 5 «’L =

[x]

T T R — i
LE B KKTAP /| AE M \ KK TAP AE | M|
BB A LE B c A

K HOLES

K HOLES

DH TAP

GA
= == &
i
GA
o =T
=il

DHTAP /

& E (kw)
1E SR 27 A JAVAN AB BB C H HA HD =
ﬂ
5.5

? 1328 216 45 250 3295 2245 237 89 132 16 310 25

- 75 55 132M 216 45 250 273 3295 2245 178 237 89 132 16 310 25

n

15 1 7.5 160M

254 50 300 334 368 263 210 362 108 160 18 378 50

22 = - 180MA 279 75 355 382 393 288 241 335 121 180 20 421 70

3
3
4
18,5 15 1 160L 4 254 50 300 334 368 263 254 362 108 160 18 378 50
4
4

18.5

- 20 15 180MC 279 75 355 382 393 288 241 335 121 180 20 421 70

1E 5% M 58
T Te T el Lo Lo

1328 12.0 NPT 1" 31.5 33.0 41.0 M12X24 63082ZC3 6306ZZC3 114

132M  12.0 NPT 1" 520 173 12.5 38 80 64 10 33.0 41.0 M12x24 6308ZZC3 6306ZZC3 119

160M 14.5 NPT11/4" 714 286 53.0 42 110 80 12 37.0 45.0 M16x32 6309Z2ZC3 6307ZZC3 173

160L 145 NPT11/4" 714 242 31.0 42 110 80 12 37.0 45.0 M16x32 6309ZZC3 6307ZZC3 197

180MA 14.5 NPT11/2" 710 238 19.0 48 110 80 14 425 515 M16x32 6311ZZC3 6310ZZC3 205

180MC 14.5 NPT11/2" 710 238  19.0 48 110 80 14 425 515 M16x32 6311ZZC3 6310ZZC3 254

NOTE

1. EUOEFEDAE 1 P38 ~ P48 : k6, P55 : mb
2. BINBEHAE 1 +0, -0.5




AEMBXZ MER T

FRAME SIZE 200LA~280MC

5 =6
L AD L AD
AC AC
ED
] ’ f
f |
— 5
= — = . aE 2
B - =] E,
3 %E o ; = - =
. . ‘ = / =]
el s |lc| % M |
| BB | KKkTAP A KK TAP A
AB AB
K HOLES K HOLES
F F
’_‘}\ ’_‘}\
iR ¢ -
DHTAP D DH TAP D
(kW)
1E 5% | B 5% AA | AB | AC | AD | AE BB HA | HD | HE
m
200LA 318 400 420 438 318 305 365 133 200 470
- 30 1225 200LC 5 318 80 400 420 438 318 305 365 133 200 25 470 64
- 37 - 225SC 5 356 90 450 458 458 338 286 375 149 225 30 525 99
45 - - 225MA 5 356 90 450 458 458 338 311 375 149 225 30 525 99
— 45 30  225MC 5 356 90 450 458 458 338 311 375 149 225 30 525 99
55  — - 250SA 6 406 100 500 523 558 395 311 385 168 250 36 598 85
- 55 37 250SC 6 406 100 500 523 558 395 311 385 168 250 36 598 85
75 - - 250MA 6 406 100 500 523 558 395 349 425 168 250 36 598 85
— 75 45  250MC 6 406 100 500 523 558 395 349 425 168 250 36 598 85
90 - - 280SA 6 457 110 560 577 588 425 368 445 190 280 40 655 115
- 90 55 280SC 6 457 110 560 577 588 425 368 445 190 280 40 655 115
10— - 280MA 6 457 110 560 576.6 588 425 419 495 190 280 40 655 115
- 10 75 280MC 6 457 110 560 576.6 588 425 419 495 190 280 40 655 115

=
.-. _ ﬂ---- SEAs

200LA 18.5 NPT 2" 770.0 222.0 110 49.0 59.0 M20x40 6312C3 6212C3 358
200LC 18.5 NPT 2" 770.0 2220 55 110 80 16 49.0 59.0 M20x40 6312C3 6212C3 388
2258C 18.5 NPT 21/2" 841.0 2660 60 140 110 18 53.0 64.0 M20x40 6313C3 6213C3 438
225MA 185 NPT 21/2" 8410 2410 55 110 80 16 49.0 59.0 M20x40 6312C3 6212C3 458
2256MC 185 NPT 21/2" 841.0 241.0 60 140 10 18 53.0 64.0 M20x40 6313C3 6213C3 468
250SA  24.0 NPT 3" 8875 2685 60 140 110 18 ©53.0 64.0 M20x40 6313C3 6313C3 596
250SC  24.0 NPT 3" 8875 2685 70 140 110 20 625 745 M20x40 6317C3 6313C3 609
250MA  24.0 NPT 3" 9255 2685 60 140 10 18 ©53.0 64.0 M20x40 6313C3 6313C3 659
250MC  24.0 NPT 3" 9255 2685 70 140 M0 20 625 745 M20x40 6317C3 6313C3 699
280SA  24.0 NPT 3" 992.0 2940 65 140 10 18 ©58.0 69.0 M20x40 6314C3 6313C3 741
280SC  24.0 NPT 3" 1022.0 2940 80 170 140 22 71.0 85.0 M20x40 NU318C3 6318C3 838
280MA  24.0 NPT 3" 1042.0 2935 65 140 MO 18 58.0 69.0 M20x40 6314C3 6313C3 811
280MC  24.0 NPT 3" 1072.0 293.0 80 170 140 22 71.0 85.0 M20x40 NU318C3 6318C3 935

NOTE

1. BOEEDAZE © P55 ~ 80 : m6
2. WOEEHAZE : 200~250 : +0, -0.5 5 280 : +0, -1




AEMBXZ MERTE

FRAME SIZE 315MA-315MC

[l 7

KHOLE

B (kw)
& 58 | B 5k

132/150/

160/185 - 315MA 130 600 662 315 457 210 710 216 134 315 40
- 113620//1%05/ 90/110 315BMB 7 508 130 600 662 315 457 210 710 216 157 315 40
_ 132/150/

160/185 90/110  315MC 7 508 130 600 662 315 457 210 710 216 157 315 40

1E 5%
n---- o [ omun | 22

315MA 974 28 M75x1.5 1319 506 635 65 140 M20x40  6316C3 6316C3 1380

315MB 974 28 M75x1.5 1349 506 635 85 170 140 22 76 90 M20x40 *6320C3  6316C3 1480

315MC 974 28 M75x1.5 1349 506 635 85 170 140 22 76 90 M20x40 NU320 6316C3 1480

NOTE

1. BOETEDAZE © Under P42 ~ P48 : k6, P55 ~ P85 : m6
2. BbEEHAZ  +0, -05
3. * For Direct Flexible Coupling




AEUFXZ MR ~TE

FRAME SIZE 80~112MC

[ 1 [ 2

GA

DHTAP DH TAP

KK TAP

4-PS Holes

& (kW)
MESR| B SR | AC AD AE
| 20 | 47 | 0@ |

0.75 075 - 80 1 177 246 1635 244 3755 12 165 130 200 12 3.5

1.5
oo 15 075 90L 1 196.5 257 1745 269 481 12 390 41 165 130 200 12 3.5

- 2.2 - 100L 2 219 264.5 182 280 506.5 16 4055 41 215 180 250 14.5 4
3.7 3.7 ;52 112M 1 235 273 190.5 298.5 529 16 421 48 215 180 250 14.5 4
1E 5%

R 0 A N I T T

80 NPT 3/4" M6x12 6204722C3 620422C3 37
90L NPT 3/4" 24 50 32 8 20.0 27.0 M8x16 6205Z2ZC3 62052ZC3 49
100L NPT 3/4" 28 60 40 8 24.0 31.0 M10x20 6206Z2ZC3 6305Z2ZC3 64
112M NPT 3/4" 28 60 40 8 24.0 31.0 M10x20 6306Z2ZC3 63062ZC3 66

NOTE

1. BOEEDAE ll)55 80 : m6
2. 5| EHENA




AEUFXZ YMERTE

FRAME SIZE 1325~180MC

3 4
F
T
- Tﬁi«
—| = = |
DHTAP DH TAP
T
@ 3
w T 7!— L a —_
N N
P P
KKTAP _ _ KK TAP
s Y
; W= o> =
&
M o
N
4 4-0S Holes 4-0S Holes

& (kw)
1E 5% | & Sk AD AE LA LB
EE3E3

52 55 37 132 3 273 3205 2245 342 618 20 490 145 4
- 75 55 132M 3 273 3205 2245 342 618 20 490 48 265 230 300 145 4

N m 75 160M 4 334 368 263 432 756 20 604 42 300 250 350 185 5

185 15 M 160L 4 334 368 263 432 756 20 604 42 300 250 350 185 5
22 - - 180MA 4 382 393 288 482 769 20 659 50 350 300 400 185 5

- 5 15 1oMC 4 382 393 288 482 769 20 659 50 350 300 400 185 5

1E 557 KK 5=
“------ I

1325 NPT 1 330 410  MI2x24  63082ZC3  63062ZC3 120
132M NPT 1 3 80 64 10 330 410  Mi2x24  63082ZC3  6306ZZC3 126
160M NPT 11/4 42 10 80 12 370 450  Mi6x32  63097ZC3  63072zC3 138
160L NPT 11/4 42 10 80 12 370 450  Mi6x32  6309ZZC3  63072zC3 173
180MA NPT 11/2 48 110 80 14 425 515  Mi6x32 63112ZC3  63102zC3 208
180MC NPT 11/2 48 110 80 14 425 515 Mi6x32 631122C3  631022C3 358

NOTE

1. O BEEDAZE © 38 ~ 48 : k6
2. 3IBETENAE 6




AEMVXZ IMEZR~TIE

FRAME SIZE 200LA~225MC

[l 5 [l 6

7
2

B
<

D DH TAP DH TAP

&%ﬂ
4-0S Holes 8-0S Holes
& (kW)
1E 5% i3 M N S
E2E3Ed
- 350 300 400 18.5

30

37 — 200LA 5 420 438 3175 518 825 20 660 55 5
18.5

- 30 5, 200LC 5 420 438 3175 518 825 20 660 55 350 300 400 185 5

- 37 — 2258C 6 458 458 3375 572 901 22 701 60 400 350 450 185 5

45 = — 225MA 6 458 458 337.5 572 871 22 701 60 400 350 450 185 5

- 45 30 225MC 6 458 458 3375 572 901 22 701 60 400 350 450 185 5

55 110 80 16 49.0 59.0

200LA M50X1.5 M20x40 6312C3 6212C3 362
200LC M50X1.5 55 10 80 16 49.0 59.0 M20x40 6312C3 6212C3 394
2258C M50X1.5 60 140 10 18 53.0 64.0 M20x40 6313C3 6213C3 433
225MA M50X1.5 55 10 80 16 49.0 59.0 M20x40 6312C3 6212C3 453
225MC M50X1.5 60 140 10 18 53.0 64.0 M20x40 6313C3 6213C3 463

NOTE

1. BOEEDAZE ¢ P55 ~ Y60 : m6
2. 5|BEENAE © )6




AEMVXZ IMEZR~TE

FRAME SIZE 250SA~280MC

[ 7 [ 8
F F
T T
= 3 - 3
DHTAP DH TAP
N
P
KKTAP 0 KK TAP ‘
| \ |
i P
+ LIJ2 g LIJ<
W e
NI == )
- 3 -
P 8-05S Holes 8-05S Holes
B (kw)
ESR| B Sk | AC | AD LA
Fl#]=]

55 = — 250S8A 7 523 558 395 626 979 22 7475 915 18.5 5
- 55 37 250SC 7 523 558 395 626 979 22 7475 915 500 450 500 185 5
75 = — 250MA 7 523 558 395 626 1017 22 7855 915 500 450 550 185 5
- 75 45 250MC 7 523 558 395 626 1017 22 7855 915 500 450 500 185 5
90 = — 280SA 8 577 588 425 700 1060 22 849 715 500 450 550 185 5
- 90 55 280SC 8 577 588 425 700 1090 22 849 715 500 450 550 185 5
110 = — 280MA 8 577 588 425 700 11105 22 899 715 500 450 550 185 5
- 10 75 280MC 8 577 588 425 700 1140 22 899 715 500 450 550 185 5

1E 557 KK

250SA M63X1.5 53.0 64.0 M20x40 6313C3 6313C3 590
250SC M63X1.5 70 140 110 20 62.5 74.5 M20x40 6317C3 6313C3 604
250MA M63X1.5 60 140 10 18 53.0 64.0 M20x40 6313C3 6313C3 654
250MC M63X1.5 70 140 110 20 62.5 74.5 M20x40 6317C3 6313C3 694
280SA M63X1.5 65 140 10 18 58.0 69.0 M20x40 6314C3 6313C3 733
280SC M63X1.5 80 170 140 22 71.0 85.0 M20x40 NU318C3 6318C3 830
280MA M63X1.5 65 140 10 18 58.0 69.0 M20x40 6314C3 6313C3 806
280MC M63X1.5 80 170 140 22 71.0 85.0 M20x40 NU318C3 6318C3 929

NOTE

1. BUOEEDAE 1 P60~ P80 : m6
2. 5| BEENAE : |6




A= D FALCEIR

F/J\gl)\EM'E
RERREE IEC/CNS Group NEC500 Group e foulles)

-

Akt Propane D 260
Z ¥ Ethylene 1B © 95
&R Hydrogen Inc B 20
OJR Acetylene Inc A 20
ce & Il 2 G ExdIIBT4
J 7 7 ExdIlIC T4
CEZ:% t EEHRE
BUNHREEEE Y am(||85
iERE ARIBELIC)

IBIERIVER - IBIERER Ex d: MEERLIRSE

{FARERIE : 2R Zone 18 Zone 21
(1A Zone 08520 » 3A R Zone 28122)

J S IRIBREEY)E © G for gas (D for dust)

e S BIRELLERR

FRBREFTAY REIZEE BNl CENELEC hERE
B (=)= ICE 60079 EN 60079 CNS 3376

T2 T2
200C T3 T3 T3
135°C T4 T4 T4
REET5
< T
Ao ERLEFN BuUBZESN - T
IM=1001(IM B3) IM-3001(IM B5) IM-3601(IM B14) IM=2001(IM B35) (KD Flange)
Kew o ([ || - [ - ] K ]
T AT E{ B A EP[ B B %E}
IM=1011(IM V5) IM=3011(IM V1) IM=3011(IM B18) IM-2101(IM B34) (MC Flange)
[T ]
ﬁfg& | ﬂ EH | =H | K 7,731
Hﬁﬂﬂﬁﬂ%ﬁé‘ iﬂiﬁﬁ"ﬁﬁ—F ! ﬁmﬁ#‘lﬁﬁ]—F ﬂﬂlﬁﬁfﬁl {i
m T i




TECO
RABRBRHERDE

WERAREHBFD

N5aithEEREEE3-15%1018
TEL:(02)6615-9111
http://www.teco.com.tw

By
at
\<>Q_\r
M

o
=l
W
I

o
mp
arm
il
-
St

April, ‘21/BA-16-04



